The vertical bisector of the three sides of the triangle meet at one point (circumcenter) and the

distance from this point (circumcenter) to the three vertices is the same.
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(The vertical bisector of the three sides of the triangle meet at one

point (circumcenter) and the distance from this point (circumcenter)
to the three vertices is the same.)
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At the intersection of the vertical bisectors of the two sides of the triangle, the perpendicular foot

on the other side bisects the other side.)
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github:
https://min7014.github.io/math20191203001.html

Click or paste URL into the URL search
bar, and you can see a picture moving.
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